GENERAL SCIENCE - MOST IMPORTANT QUESTIONS — SAMPLE PAPER NO -3

1. Slipper-shaped animal
YUl &I IThid &I Sied &

A. Amoeba/ 3THET

B. Paramecium/ Sfafas
C. Trypanosoma/ Er=raAT
D. Giardia/ To=RTSar
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Explanation : Paramecium is called "slipper animalcules" because of their slipper-like shape. They
are unicellular organisms usually less than . 01 inches in length and covered with minute hair like
projections called cilia. They also provide the "touch" sense that allows the paramecium to navigate
its world.

SATEAT : WIHAIRIGHA &Y 3o Tl S 3R & HROT "EIR TiidAergedw" Fgl Sar gl &
THHIRDIT g § ST HGN W T FF g1 &1 0137 &er 3R [fer s I arer o= s
BIE aTel & &l g1 &1 3 "TI" $19eT o et A § S WENRTHA A 39l gfaar 7 Afdde
X T AT T B

2. Sodium bicarbonate is useful as a fire extinguisher because

[If3TT SIsFEfce JAPAHF F T F 39AeT § Fife

It decomposes on heating to give carbon dioxide, which extinguishes fires/ IJg FIeeT SISHTFATSS
&t & T 9 ey WY faufed g Sirar &, e 3mer g5 Sl §

It releases water which extinguishes fires / Ig UTell BISAT § SiT 31T STl &

It serves as a blanket for fires/ Ig 39T & AT U FHael & T & HT HIdT §

It emits a foam which extinguishes fires/ Jg Tah ST &1 3cHolel HIAT & SiT 39T i I el &

3. Gene control heredity in man and other organism. This gene is:
HTST 3R 3 Shat & Sl AG=0T e fRiehar | I8 Siie &
a) Aprotein molecule/ T& WIET 3707
b) A segment of RNA/ 3IRTAT &l Th TS
c) A bead-like structure on the chromosomes / J[OIFAET W Teh Heleh SIET HITAT
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d) A segment of DNA/ SIUAT & Teh TS

Genee——

Ir;'l; E:I(on Exon

Explanation : Gene is a segment of DNA that carries information from parents to offspring and
determines the heredity characters in the offsprings. The important functions of genes are: ... -
Genes contain a specific set of instructions or specific functions.

m:mﬁwww@%ﬁm-mﬁmﬁwqgvﬂ%wmﬁ
IJafIsHar & ool @ iR axar §1 e & Agcaqet & §: ... - e & el ar Rt
FRIT FT T AfRkSe Je gar gl

4. The only reptiles that have specially adapted jaws to be able to swallow eggs or prey much larger
in diameter than themselves are

THAT T WYY ST S99 9 &9 & iegehfoid g & St 37S ¥eTelel H @& g ¢ a1 39t
¥ T 93 AW F RER A §

a) Tortoises/ U

b) Dragon lizards/ 33T f&adhelr

c) Monitor lizards/ HAifaex fuerelr

d) Snakes/ &I

5. A jet plane flies in the air because

T Sic TJAET gar # 3541 § Fdith

a) The gravity does not act on bodies moving with high speeds/ '{’W@T 3= I1fd & AfaAT
et W FF 7@ X §

b) The thrust of the jet compensate for the force of gravity/ SI€ & SR J&cdlh¥UT Tol &I FRUTS
AT &

c) The flow of air around the wings causes an upward force, which compensate for the force of

gravity/ 9@ & °RT 3 §aT & Jd§ SR &I 3N T HT HROT oAl 8, S Tocarehyor ol
IRUTS &l &

d) The weight of air whose volume is equal to the volume of the plane is more than the weight of

the plane/ a1g & $IR TSR 3MIAT el & T & RIS il &, [FAET & R & 31w
8T &l

6. A pungent odour or the smell of a fine perfume is interpreted in the brain in the:
AETSH H T @l 1% I1 U JAA T HT I Fr IrEdr Hr A1r g

a) Cerebrum/ JHEISH

b) Cerebral hemisphere/ JHATREdSH Ieey

c) Temporal cortex/ TFAR PreaFd

d) Cerebellum/ 3THTETSH
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7. Gasoline is the name given to the same substance as

rereler 3¢ v A e T A § S
a) Diesel oil/ 3rsTel dof
b) Petrol/ Ueiel
c) Natural gas/ Jrhfde T
d) Crude oil / F=ar def

8. The substance that is least prone to catch and spread fire is
o Terel & 3m7 o 3 thelr T GG G FA gl ¥ a8 ¥
a) Nylon/ aArTdte
b) Terycot/ <qeic
c) Cotton/ HUrdg
d) Polyester/ difaluEex

Explanation : The fibre least prone to catch fire among the given option is Cotton. Pyrolysis is the
term given to the phenomenon of decomposition of material due to fire. ... Cotton is a natural fibre
consisting of 'Cellulose’ while the others are man-made fibres.

TET ;U a0 fQheq H 39T R FI G0 FH GHGAT dTell BiSsT HUE gl IR—RRIR{T 3mr
& SHRUT WHAT & qEes HT T Hi I -7 Asg §l ... HUN Ueh Hehiceh BlgeR & Tores
‘Hegater BiaT & Siafh 37 Aig AT wreaR g &

9. The age of a tree can be found by-
Tsh U3 HI MY AT I ST Fehell &
a) Analysis of its sap/ 9% & &1 GeevoT
b) Measuring its height/ SH&T FaTS ATIAT
c) Measuring its diameter/ GhT I ATIAT
d) Counting the annual growth rings in a section of its stem/ dTi¥eh & & Teo P 3Hb ol
& Tk HET A [Aietar

Explanation : If you know when the tree was planted, you can easily and accurately determine its
age. The second most accurate way to estimate tree age is to count the annual rings of wood
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growth. Annual rings can be counted using two different methods. You can extract an increment
core from the tree using an increment borer.

SUTEAT : Jie 3T ST & & U8 od o9T—T a7 47, aF 309 319er ¥ 3K 98% &9 O 967 39
fAeiRa & Fhd §1 95 &1 37 FT IFAWT ool HT GEU Fad Heh el sl & fdhrd &
qI¥F Tool ST VAT AT & aTNF ol FT 06T af Feat AT T & 1 Tt &1 39
SHhIAT IRT HT 3YAT Ik U5 ¥ Uh Shidc HR AHel Tohd &l

10. The fundamental role of root of root hairs in plants is:
aet 7 S5 & UH B S35 A Al A &
a) To bind soil particles to the root for firm fixation of the plant/ G &I Hatec & fow fAce
% U dl S8 F AT
b) To protect the young root from damage by coarse soil particles/ d%0T 318 &I Al AT &
HUIT EanT &fd ¥ Ja1= & fow
c) To absorb water and mineral salts from the soil/ Teer & d=lr 3R @fesT T@oi &
HIMVT = & T
d) To protect the root from soil microbes/ fAeEr & MU A T3 &r &M & AT

11. The artificial kidney operates on the principle of:
Fhw frs ey Rigyid ® #19 ad &

a) Active transport/ T@fehT TrEUC

b) Diffusion/ JER

c) Osmosis/ ITEIOT

d) Dialysis/ safaf@a
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/ Air trap and air detector
] € /
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V4

Used dialysate \,ﬁ;'

Inflow pressure — |
monitor |

Blood pump

Heparin pump Arterial pressure Removed blood
(to prevent clotting) monitor for cleaning

Explanation : The main purpose of dialysis is to replace impaired renal function. When your kidneys

are damaged.
They are no longer able to remove wastes and excess fluid from your bloodstream efficiently. Waste
such as nitrogen and creatinine build up in the bloodstream.

ATEAT : SATATAT T HTT 3 0T8T g3 I FARIE 1 TEolall &l ST AT fohsell T &
ST &1

d 3T 39 IFAvarg & ITRIse AR AR el gerd it FRATA dsh el F Fard =Agr ¢l
Argeate 3R fruRefasr S 3fdse wavare # S#T & Sia 2l

12. What is the vital capacity of our lungs?
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§AR ST I AcdqUT &THAT T §?
a) Inspiratory reserve volume plus tidal volume/ 3Rl Red afegd cord Faiig AT
b) Total lungs capacity minus expiratory reserves volume/ sl &t el &THAT ©eT TFARE

Rard afegs
c) Inspiratory reserves volume plus expiratory reserve volume/ 3fERed Rea a‘fwy Col"
TFHTREY Retd dlegd

d) Total lungs capacity minus residual volume/ %Whsl T el &THAT BT IARIST AT

Explanation : The lungs' vital capacity can be defined as the maximum amount of air exhaled by the
body after maximum inhalation. The lung capacity of the individual is 4800 mL approximately. The
vital capacity is the sum of tidal volume, inspiratory reserve volume, and expiratory reserve volume.
On the contrary, total lung capacity is the sum of residual volume, tidal volume, inspiratory reserve
volume, and expiratory reserve volume. The vital capacity is total lung capacity minus residual
volume.

SATEAT : BH3] I AgcaquT &THAT &I HUFAIHA FH ol & a1 R GaRT BIer g gar &
JifRad AT & ¥ H aRANT fhar ST dhar g1 SafFd & Bwhst dr &THAT J9TeeT 4800 mL gl
¢ AGCAYUT &THAT SARIT HTAT, &6 ARTET AT 3R Q@ RI&TT AT &1 Aher g

58 TR, el Bhs! I &THAT HafIse AN, SANG AET, a8 RIS AET 3R @deT IRfard
AT &1 AT g1 AgedqoT &THaT sl il Fol &THT Ter HafIse Irae gl

13. A person will have brown eyes, blue eyes or black eyes depending upon the particular pigment
present in the:

forely cafa & ol 3, el 3 ar el W gl &, S 3w Algg Ay aufeh w i wear
&

a) Cornea/ ifardr

b) Vitreous body/ sFMATH ga

o) Iris/3mSRE

d) Choroid/ #Riss

Right Eye

(viewed from above)

Eye lid
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Tear duct
Lateral rectus muscle

Choroid

~— Retina
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q

Posterior chamber
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Retinal blood vessels

Suspensory ligaments §
Vitreous body

Glliaryodyandmuscle Medial rectus muscle

14. Iron particles rust because of the formation of

g & HUT TR Fefol & HRUT 9T @M ST 872
a) Ferrous chloride/ ™T FARSS
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b) Sodium carbonate/ TZIA FEfae
c) A mixture of ferrous and ferric hydroxides/ %R& 3R HR$ gEsiFass 1 HYOT
d) Ferric chloride/ BR& FaRES

15. Detergents produce lather with hard water because
3YHATSTS FOR AT & AU ST 3ol Fld § FAih
a) They are soluble in hard water/ & #3R Siel & HoleTeliel Il &
b) They are colourless substances/ & TET T §
c) The calcium and magnesium salt of sulphonic acid are soluble in water/ Te®hiTeieh TRAT Fr
hicergd 3R ATHRITA Faor arelr 7 gererlier §
d) They form sodium carbonate with hard water/ @ FOR STol & ATY AZIH FEfde TAT &

Explanation : When soap is added to hard water, the Ca2+ and Mg2+ ions present in hard water
react with soap. The sodium salts present in soaps are converted to their corresponding calcium and
magnesium salts which are precipitated as scum. ... Detergents are more soluble than soaps and
hence form more lather than soaps.

SATEAT : 5T WA T FOR STl A AT S & A FoR Sfel H 3URYA Ca2+ TAT Mg2+ I
AT A AT ad &1 AT H Al WSIH oq01 39 T Hiewad R Avnfgs orgor
# gRafda g o § S & Ad & &9 7 @80 gid g1 ... Besie @ & Jefer & 31l
goraelier gl § 3R safau @ i Jefer #F 31fU Fmr s B

16. Which part of ovary in mammals acts as an endocrine gland after ovulation?
FAAURAT F 3SR T HleT AT AT 3NN F &G Iel:H1e I & § 7 HRF Far 52
a) Graafian follicle/ IMfhaeT Biforerer
b) Stroma/ TEIHAT
c) Germinal epithelium/ Sif&sTer TR Ao
d) Vitelline membrane/ faeforT Breelr

OVARY

Primary Follicle

Primary Ovum

Developing Follicles Secondary Ovum

Blood Vessels

Graafian Follicle

Corpus Albicans

Ruptured
Follicle

Corpus Luteum
Germinal Epithelium
Tunica Albuginea
Developing Corpus Luteum
Explanation : After ovulation, the Graffian follicle is transformed into a yellow- colored endocrine
gland, called corpus luteum, formed from an empty Graffian follicle during the pregnancy.

SATEAT : A & G, MBTA F9 Uk el T T 3:ae 4y 7 dger e g, Fd e
IRIA FET ST §, S TG F SN Uk @relt AT F9 F aefar
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17. ‘Chlorination’ is

'FAARIIT &

a) A process of converting chlorides into chlorine/ FIRISS FI FARIT H Scolel ST Ufhar

b) Adding small amounts of chlorine to impure water/ 3RIGE Uil 7 ST AET & FolkleT fATAT
c) A chemical reaction in which chlorine is formed/ e TARIAS fATFAT FHH FARA Fo1aT &
d) The formation of a salt containing chlorine/ &eRIeT JeFcl SEUT & fAATOT

18. A colour blind girl is rare because she will be born only when

quiiver shr geer & iR g o der gel o

a) Her mother and maternal grandfather were colour blind/ 38T AT 3R AT guiieer &

b) Her father and maternal grandfather were colour blind/ 38 dr 3R 1T guieer &

c) Her mother is colour blind and father has normal vision/ 3@ AT guii=er & 3 far 1 gfee
AT §

d) Parents have normal vision but grandparents were colour blind/ #Ta-Raar $r e e &
Afehet greT-ardr auiieer &

19. Heavy iceberg melts from the bottom rather than the top because-

A fRras oy &t e e 9o @ Rgear § #=4f-

a) The lower temperature is higher/ fa=eidrer &1 drgaAT 31f8% g &

b) Melting point decreases due to higher lower surface pressure/ &@el deleT g 31T8& &l &
HROT ITeleAleh b€ ST §

c¢) Iceis nota real solid/ % arEAd® AT & &

d) None of the above/ 3TFd H T HIS =Ter

20. Sometimes blood starts coming out of the nose and mouth of the people on the mountains,
because

ueTsl W Hel N AfFAIT & Ak G Hg F Gl Aeholer oforam §,HGfH

a) Increase in height increases blood pressure/ FA1S d& & {&d I Sl ¢

b) Blood pressure decreases with increase in height/ 3dT5 ST & TTY &d I gedl ¢

c) Atmospheric pressure increases with increase in altitude/ TS gea & TTYU a@ﬂvga‘ﬁzr ard
ol &

d) Atmospheric pressure decreases with increase in altitude/ 39T Seai & HIY AFAUSA Glel
gedr §

21.The pressure inside the soap bubble

AT & goldel & 3HeT HT gle-

a) s greater than atmospheric pressure/ aIAUSHI ald & 38 giem &
b) Less than atmospheric pressure/ agHsTOT &d & & gIaT &

c) Atmospheric pressure is equal to/ ARIHUSHI &Id & SRS EIell ©

d) Is half the atmospheric pressure/ IgHUSHT &Td &I 3TUT BT &

22. Which of the following is produced by converting solar energy using photovoltaic cell?

T deerT T & JAT F TR 39T FT FIROT F & e & F fhgar 3care giar &
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a) Light energy/ gemelar 3ot

b) Electrical energy/ fdega 3T
c) Thermal energy/ 3SHRT 3T

d) Mechanical energy/ Tif3& 3T

Explanation : Solar PV cells generate electricity by absorbing sunlight and using that light energy to
create an electrical current. There are many photovoltaic cells within a single solar panel, and the
current created by all of the cells together adds up to enough electricity to help power your home.

srEdl (ER N Aol FF F GhRN B IMT I AR 37 JRr Fol H 3G Fh fAegd
YaTE Sellel & T fasell Scdeet X 1 T ER Yeter & i &8 wictaifoes HIRIAT gl €,
3R gt FIRFT CaRT TS TS URT T T IS TR & fAotell ¥ & HAeg i & faw
wfiee fastel Siseh &1

23. When milk is churned vigorously, the cream separates from it due to

SIS gY@ Yool GoT { HAT Sl & of 3HA & shiA o HROT A 3el@T 81 STl &
a) Centrifugal force/ 3T9ehgl Sof

b) Centripetal force/31f@shear so

c) Gravitational force/ [ecd &ef

d) Frictional force/ &¥UT g

Explanation : When milk is churned, the cream is separated from it due to centrifugal force because
this force acts outwards in the direction of line joining centre to the locus. Due to outward force the
heavier particles in milk experiences more force than the lighter particle.

SATEAT : GY & AU T HETTHNE doT & HRUT hIA IEY 7@ g1 Sl ¢ Fifeh Ig dof hg Al
&g ¥ SIser arelr Y@T @1 R 7 T 3R F FAT ¢ TEd g F HROT U H AR FHoT
goh hUT I Tolell H TR Tol & HeIsTd A ¢

24. The largest artery of the body is
R Fr fFATIdHT AT §

a) Vena cava/ delrehar
b) Aorta/ HgTUHAT
c) Capillary/ frer

d) Ventricles/ e

Explanation : The aorta is the largest artery in the body. The aorta begins at the top of the left
ventricle, the heart's muscular pumping chamber. The heart pumps blood from the left ventricle into
the aorta through the aortic valve.

SATEAT : FFTUHT AR T Fad T8 eofell ¥ FATedelt 910 dfehet & MY W & gielr &, g &
fY GfaT eT| g 91U dfeehd ¥ HEIUHAT dled & HATEIH O HEUHAT H T&d 99 T &l
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Right
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Right atrium
Right

pulmonary veins
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muscles

Tricuspid
Valve (3 flaps)
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(e)

Aorta

Left

pulmonary artery
Left atrium

Left

pulmonary veins

Mitral
(bicuspid-2 flaps)

Left ventricle

Papillary
muscle
Interventricular
e septum

N\ 7 Myocardium

: Visceral
pericardium
Endocardium

25. Who first studied the blood circulatory system?
HAUYH & IRTIOT JF FT eI fhaer fhar ar

a)
b)
c)
d)

Landsteiner/ ST
Kornberg/ ahisierar
Brown/ ST3e
Harvey/ gTd

Explanation : William Harvey, (born April 1, 1578, Folkestone, Kent, England—died June 3, 1657,
London), English physician who was the first to recognize the full circulation of the blood in the
human body and to provide experiments and arguments to support this idea.

sareEt : fafor s g1d, (S 1 318, 1578, Biehecle, e, $Tds—Hcg 3 S, 1657, vieet), 3ars
fafrcas S AT R # @ & o7 Fga F TEdee arer 3R ST 3R aF TEe F are
ugel Safgd | 38 AR @1 @#da &Y
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